Movie Trailer Example – 3rd Period Section, Monday 4/21/08
3 Trailers: A, B, C        Response: Intention to see movie: Low(j=1), Med(j=2), High(j=3)

Trailer Dummy variables: TA=1 if Trailer A, 0 if not.    TB=1 if trailer B, 0 if not.

Model (Note the negative sign):  
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Parameter estimates:  a1 = -0.5   a2 = 0.5  b1 = 0.5   b2 = 0.1

Estimated odds and probabilities:

Trailer A, Low Intention: odds = e -0.5 – 0.5 = e -1 = 0.37     prob = 0.37/1.37 = 0.27

Trailer B,  Low Intention: odds = e -0.5 – 0.1 = e -0.6 = 0.55     prob = 0.55/1.55 = 0.35
Trailer C, Low Intention: odds = e -0.5 = 0.61     prob = 0.61/1.61 = 0.38
Trailer A, Low+Med Intent:  odds = e 0.5 – 0.5 = e0 = 1     prob = ½ =0.50

Trailer B, Low+Med Intent:  odds = e 0.5 – 0.1 = e0.4 = 1.49     prob = 1.49/2.49 = 0.60

Trailer C, Low+Med Intent:  odds = e 0.5 = e0.5 = 1.65     prob = 1.65/2.65 = 0.62

Trailer A, Med Intent: 0.50 – 0.27 =0.23     High Intent:  1-0.50 = 0.50

Trailer B, Med Intent: 0.60 – 0.35 =0.25     High Intent:  1-0.60 = 0.40

Trailer C, Med Intent: 0.62 – 0.38 =0.24     High Intent:  1-0.62 = 0.38

	Trailer \ Intent
	Low
	Med
	High
	Total

	A
	0.27
	0.23
	0.50
	1

	B
	0.35
	0.25
	0.40
	1

	C
	0.38
	0.24
	0.38
	1
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